
Samsung Electronics5-1

5. Exploded Views and Parts List

5-1 Indoor Unit

■ DH070(052)EAS

��

��

�

��

�

�

�

�

��

��

��

�

����

����
����

����

����

����

����

����

��

��
��

��

��
��

�

�

��

��

�



Samsung Electronics

Exploded Views and Parts List

5-2

■ Parts List

 1 DB90-03809A ASS’Y CABINET FRONT ASS’Y 1 SA

 2 DB90-03805A ASS’Y CABINET-TOP ASS’Y 1 SA

 3 DB90-02928A ASS’Y COVER-PIPE ASS’Y 1 SA

 4 DB90-03807A ASS’Y CABINET-BOTTOM BLOWER ASS’Y 1 SA

 5 DB90-03810A ASS’Y CABINET-SIDE RH ASS’Y 1 SA

 6 DB90-02930A ASS’Y CABINET-SIDE LF ASS’Y 1 SA

 7 DB90-03813A ASS’Y-BRACKET OUTLET PART ASS’Y 1 SNA

 8 DB90-03808A ASS’Y CABINET-BOTTOM DRAIN ASS’Y 1 SA

 9 DB61-01282A HOLDER-SIDE CABI SGCC-M,T3.0,45.2,65 4 SNA

 10 DB61-02378A HOLDER-PIPE SGCC-M,T1.0 1 SNA

 11 DB63-01297A COVER-HOLDER SGCC-M,T0.8 1 SNA

 12 DB63-01299G FILTER-PRE ASS’Y 1 SA

 13 DB96-08847A ASS’Y EVAP-UNIT ASS’Y 1 SNA

 14 DB93-06161A ASS’Y CONTROL IN ASS’Y 1 SNA

 14-1 DB90-02981B ASS’Y CASE-CONTROL ASS’Y 1 SA

 14-2 DB61-02287A CASE PCB ABS V0,T2.5 1 SA

 14-3 DB26-00080A TRANS POWER AC 230V, 50HZ,DC 17V,DC 0.6A,VDE,ICE 1 SNA

 14-4 2301-001381 C-FILM,LEAD-OTHER 8000nF,+10-5%,450V,BK,58x30x44mm 1 SA

 14-5 DB65-00105L TERMINAL BLOCK DAF-S6P 1 SA

 14-6 DB65-00105M TERMINAL BLOCK DAF-S6P 1 SA

 14-7 DB61-00250A HOLDER-WIRE CLAMP ABS,BLK,ISI,SAMLINE 2 SNA

 14-8 DB93-03213L ASS’Y PCB MAIN-IN ASS’Y 1 SNA

 15 DB63-01657A COVER-CONTROL SGCC-M,T0.8 1 SA

 16 DB94-01697A ASS’Y DRAIN PAN ASS’Y 1 SA

 17 DB61-03058A BRACKET MOTOR SGCC-M,T2.0 1 SA

 18 DB31-00514A MOTOR FAN YSK-140-200-4E1, 0.7A, 50HZ 1 SNA

 19 DB90-04047A ASSY CASE BLOWER UPPER ABS,T2.0 2 SA

 20 DB61-03060A CASE BLOWER-BOTTOM ABS,T2.0 2 SA

 21 DB67-00583A BLOWER-C ABS 2 SA

 22 DB97-03751A ASS’Y-BAND MOTOR ASS’Y 1 SNA

 23 DB32-00142B THERMISTOR-IN 10Kohm,103AT,-20~+100 1 SA

No. SA/SNADescription Specification Q'TYCode No.



Samsung Electronics5-3

Exploded Views and Parts List

27

26

■ UH070(052)EAS

5-2 Outdoor Unit



Samsung Electronics 5-4

Exploded Views and Parts List

 Parts List

No. Code No. Description Specification
Q’TY

SA/SNA
UH052EAS UH070EAS

1 DB90-03914A ASS’Y CABI FRONT ASS’Y, SC-94445T 1 1 SA 

2 DB63-00838A GUARD FAN HIPS, SC-90073R 1 1 SA 

3 DB90-00970V ASS’Y BASE OUT ASS’Y, SC-94445T 1 1 SA 

4 DB61-01593A BRACKET VALVE SECC-P, SC-94445T 1 1 SA 

5 DB67-00142A FAN-PROPELLER AS+G/F20%, Φ420 1 1 SA 

6 DB60-30020A SCREW-MACHINE M6 1 1 SA 

7 DB31-00264D MOTOR FAN OUT AC Motor 1 1 SA 

8 DB61-00686A BRACKET MOTOR SGCC-M 1 1 SA 

9 DB94-01210B ASS’Y PARTITION ASS’Y, SGCC-M 1 1 SA 

10 DB27-00043A REACTOR PPS, 20A 1 1 SA 

11 DB96-04087B ASS’Y COND UNIT ASS’Y 1 1 SA 

12 DB90-10616G ASS’Y CABI UP ASS’Y, SC-94445T 1 1 SA

13 DB63-00692A GUARD COND SECC-P, SC-94445T 1 1 SA

14 DB90-01651E ASS’Y CABINET SIDE RH ASS’Y, SC-94445T 1 1 SA 

15 DB63-10490B COVER CONTROL ABS, SC-90073R 1 1 SA 

16 DB63-01719A FELT COMP BASE FELT+PVC Sheet 1 1 SA

17 DB63-01668A FELT COMP SIDE FELT+PVC Sheet 1 1 SA

18 
G8T200FUAEW

COMPRESSOR ROTARY, BLDC
1 -

SNA
G8T260FUAEW - 1

18-1 DB63-00815A GROMMET ISOLATOR NR 3 3 SNA

18-2 DB60-30028A SCREW HEX M8 3 3 SNA

18-3 DB63-00817A GASKET EPDM 1 1 SNA

18-4 DB63-00816A COVER TERMINAL PBT (G/F 15%) 1 1 SNA

18-5 6021-001142 SCREW MACHINE M5 1 1 SNA

19 
DB96-08939B

ASS’Y VALVE 4WAY ASS’Y
1 -

SA
DB96-08939A - 1

19-1 DB62-02338A 4WAY VALVE R410A, SANHUA 1 1 SNA

19-2 DB33-00002C SOLENOID COIL ASS’Y 1 1 SNA

19-3 DB67-00765A ACCUMULATOR STEEL ACCUM. 1 1 SNA

19-4 DB97-02054A TUBE MUFFLER C1220T-0 1 - SNA

19-5
DB62-02285A

VALVE SERVICE
R410A, SANHUA, 1/2” 1 -

SNA
DB62-02342A R410A, SANHUA, 5/8” - 1

20 DB96-09092A ASS’Y VALVE EEV 1 1 SA

20-1 DB62-03964A VALVE EXPANSION COIL FUJIKOKI 1 1 SNA

20-2 DB62-02863A VALVE EXPANSION BODY FUJIKOKI 1 1 SNA

20-3 DB62-02283A VALVE SERVICE R410A, SANHUA, 1/4” 1 1 SNA

21 DB64-02083A SCREEN-COND BAR P.E.H 100% 1 1 SA

22 
DB93-05838E ASS’Y CONTROL OUT ASS’Y 1 - SA

DB93-05838D ASS’Y CONTROL OUT ASS’Y - 1 SA

23 DB32-00176A THERMISTOR OUT/DIS ASS’Y 1 1 SA

24 DB32-00175A THERMISTOR COND ASS’Y 1 1 SA

25 DB39-01301A CONNECT WIRE COMP ASS’Y 1 1 SA

26 DB63-02024A FELT COMP SIDE OUT 1 1 SA

27 DB63-02025A FELT COMP TOP 1 1 SA



Samsung Electronics5-5

5-3 Ass'y Control Out



Samsung Electronics 5-6

Exploded Views and Parts List

 Parts List

No Code Desc_spec PARA
18K 24K

SA/SNA
DB93-05839E DB93-05839D

1 DB93-05839E ASSY PCB MAIN-OUT GAUDI 18K 1 0 SNA
DB93-05839D ASSY PCB MAIN-OUT GAUDI 24K 0 1

2 DB93-05840A ASSY PCB SUB-EMI 18/24K 1 1 SNA
3 DB93-05955A ASSY PCB SUB-DISPLAY 18/24K 1 1 SA
4 2301-001369 C-FILM, LEAD-OTHER 3.0uF,450V,BK 1 0 SA

2301-001379 4.0uF,450V,BK 0 1
5 DB93-06446A ASSY CONNECTOR WIRE-POWER GAUDI PJT,SSEC 1 1 SNA
6 DB93-01316B CONNECT WIRE 26# AWG,UL2096,4P 1 1 SNA
7 DB39-01317B CONNECT WIRE 26# AWG, UL2096,10P 1 1 SNA
8 DB93-04334B CONNECT WIRE 14# AWG,UL1015,WHT,YEL 1 1 SNA
9 DB62-05320A ASSY -INSULATOR MICS INSULATOR MICS 1 1 SNA

10 DB91-00306A ASSY-SCREW MACHINE SCREW MACHINE 2 2 SNA
11 DB91-00307A ASSY-SCREW MACHINE SCREW MACHINE 5 5 SNA
12 DB61-02973A CASE CONTROL BASE CASE CONTROL BASE 1 1 SA
13 DB61-02974A CASE CONTROL COVER CASE CONTROL COVER 1 1 SA
14 DB61-02977A PLATE CONTROL OUT PLATE CONTROL OUT 1 1 SA
15 DB61-01948A CASE DISPLAY PCB CASE DISPLAY PCB 1 1 SNA
16 DB62-05315A HEAT SINK HEAT SINK 1 1 SNA
17 DB61-00250A HOLDER WIRE CLAMP ABS,BLK 2 2 SNA
18 DB61-00206B HOLDER WIRE CLAMP HOLDER WIRE 1 1 SNA
19 DB62-04566B INSULATION CONTROL BOX TOP FOAM -LEX 1 1 SNA
20 6002-000234 SCREW MACHINE M4,L16,TH 4 4 SNA
21 6002-00630 SCREW MACHINE PH+ 3 3 SNA
22 6009-001001 SCREW MACHINE TH+ 3 3 SNA
23 6002-000536 SCREW TAPPING PH+ 2 2 SNA
24 6002-000555 SCREW TAPPING PH+ 1 1 SNA
25 6002-000231 SCREW TAPPING THH+ 1 1 SNA
26 DB65-00181C TERMINAL BLOCK TERMINAL BLOCK 1 1 SNA
27 DB65-10088D CABLE TIE NYLON 66 1 1 SNA
28 DB98-24813A THERMAL GREASE THERMAL GREASE 2g 2g SNA
29 6003-000336 SCRE MACHINE BH,M4,L10 2 2 SNA




